jméno:

Pracovni list - 8. ro¢nik - rozklad na soucin - vytykani

1. Rozloz na soucin vytknutim
a) 4x+12y =
b) 20a —30b =
c) 32x?%+ 24y? =
d) 12k +8l—16m =
e) 121xz + 88z =

2. RozloZ na soucin
a) 6x%+7x=
b) x3+2x?—5x =
c) ab—a?*+a3b? =
d) 25x + 15x% =
e) 10k3I5 + 50k612 =
f) 990 + 2000

3. Vytknéte
a) x (4-y)+3-(4—y)=
b) (a+b)—c-(a+b)=
) 2y (x+9)—-3y-(x+9) =
d 5a-(1-b)+1-b=
e) k-(I-3m)+({—-3m) =

4. RozloZte na soucin
a) x-(5—-y)+8:-(-5+y) =
b) 3-(a+b)—a-(—a—>b)=
c) —6a-(x—2)—5b-(—x+2)=
d) x-(-1-2c)+1+4+2c=
e) 7-2-3y)+x-QBy—-2)=

5. Postupné vytykejte
a) 6x+6+xy+y=
b) ax +ay+bx + by =
0 x}-x?+x-1=
d) 5ab — 5ac + 4bc — 4c? =
e) x2+2x+3x+6=
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